
Time: 30 Minutes Paper Math 6 (T-1) Total Marks: 25

1st Month, 1st Week, 6th Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.  (1×13 = 13)  ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) 8, 10 and 20 are the factors of 

''''''''ÆÆÆÆ1111iiii))))¬¬¬¬ŠŠŠŠ((((÷÷÷÷XXXX 20 ZZZZzzzzgggg 10,8

(a) 20 (b) 40 (c) 60 (d) 70

(ii) 5, 10, 20 and 40 are the factors of 

''''''''''''ÆÆÆÆ1111iiii))))¬¬¬¬ŠŠŠŠ((((÷÷÷÷XXXX 40 ZZZZzzzzgggg 5,10,20

(a) 20 (b) 40 (c) 60 (d) 90

(iii) 5 is factor of '''''''''''''''' ''''''''''''»»»»1111))))¬¬¬¬ŠŠŠŠ((((ììììXXXX 5

(a) 15 (b) 20 (c) 45 (d) All of these tÓx
(iv)  How many factors 40 are? ÆÆÆÆÄÄÄÄ1111iiii))))¬¬¬¬ŠŠŠŠ((((÷÷÷÷???? 40

(a) 2 (b) 4 (c) 6 (d) 8

(v) How many factors 36 are? ÆÆÆÆÄÄÄÄ1111iiii))))¬¬¬¬ŠŠŠŠ((((÷÷÷÷???? 36

(a) 6 (b) 9 (c) 12 (d) 15

(vi) Multiple of 85 is '''''''''''' »»»»ZZZZDDDDssss''''''''ììììXXXX 85

(a) 905 (b) 925 (c) 935 (d) 945

(vii) The set of prime number is denoted by the capital letter.

GGGGzzzzŠŠŠŠZZZZ°°°°ZZZZŠŠŠŠÆÆÆÆÃÃÃÃLLLLÃÃÃÃZZZZôôôômmmm,,,,~~~~ÆÆÆÆ''''''''''''((((,,,,}}}}wwwwzzzzssssÐÐÐÐªªªªCCCCÙÙÙÙ™™™™DDDD÷÷÷÷XXXX  

(a) N (b) Z (c) P (d) R

(viii) How many even prime number between 30 and 60?

ÆÆÆÆŠŠŠŠggggxxxxyyyyÄÄÄÄññññGGGGzzzzŠŠŠŠZZZZ°°°°ZZZZŠŠŠŠ÷÷÷÷XXXX 60 ZZZZzzzzgggg 30

(a) 0 (b) 5 (c) 10 (d) 12

(ix) Which of the following number is even prime number?

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ññññGGGGzzzzŠŠŠŠ°°°°ŠŠŠŠìììì????
(a) 2 (b) 4 (c) 9 (d) 18

(x) 41 is a ''''''''''''  number. ZZZZqqqq----''''''''''''°°°°ŠŠŠŠììììXXXX 41

(a) Composite Number %“°Š (b) Even number ñ°Š
(c) Prime Number GzŠ°Š (d) Odd number ¤t°Š

(xi)Which of the following numbers is prime number?

ŠŠŠŠgggg̀`̀̀ffffssssZZZZ°°°°ZZZZŠŠŠŠ~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚GGGGzzzzŠŠŠŠ°°°°ŠŠŠŠìììì????
(a) 71 (b) 93 (c) 99 (d) 117

(xii) How many method to find prime factorization of a number 

are?   ÆÆÆÆÄÄÄÄ§§§§jjjj÷÷÷÷???? ZZZZqqqq----°°°°ŠŠŠŠÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~¥¥¥¥xxxx™™™™ääää
(a) 1 (b) 2 (c) 3 (d) 4

(xiii) The process of factorizing a number into its prime factors is

known as: :::: °°°°ŠŠŠŠÃÃÃÃZZZZkkkkÅÅÅÅGGGGŠŠŠŠ¬¬¬¬ŠŠŠŠ~~~~‹‹‹‹~~~~™™™™ääää»»»»§§§§iiiiBBBB@@@@****ìììì ZZZZqqqq----
(a) Composite factorization %“‹~ (b) Factorization ‹~
(c) Prime factorization     GŠ‹~ (d) None         Ãð7

Q.2. Solve the following. (4x2=8) ŠŠŠŠgggg`̀̀̀ffffssssÃÃÃÃiiii™™™™,,,,XXXX
(i)  Write the all factors of 118. ÆÆÆÆÓÓÓÓxxxx¬¬¬¬ŠŠŠŠKKKKXXXX 118

(ii) Write these index notation into expanded form:  54x 37x 93

54x 37x 93 ZZZZ&&&&++++ooooââââŸŸŸŸÃÃÃÃ####ƒƒƒƒðððð̂̂̂̂~~~~KKKKXXXX
(iii) Fill the spaces to complete the factor tree.

1111RRRR,,,,~~~~ÅÅÅÅææææŠŠŠŠÐÐÐÐ{{{{àààà»»»»VVVVÃÃÃÃåååå™™™™,,,,XXXX

(iv) Write all prime numbers between 30 and 65.

ÆÆÆÆŠŠŠŠggggxxxxyyyyÓÓÓÓxxxxGGGGŠŠŠŠZZZZ°°°°ZZZZŠŠŠŠKKKKXXXX 65 ZZZZzzzzgggg 30

Q.3.Prove that prime factors of 1,600 are same using division

method and factor tree method.     (1×4=4)

ÆÆÆÆGGGGŠŠŠŠ¬¬¬¬ŠŠŠŠ„„„„ÆÆÆÆ§§§§jjjjÐÐÐÐZZZZzzzzgggg¬¬¬¬ŠŠŠŠ))))1111((((¢¢¢¢~~~~ÆÆÆÆ§§§§jjjjÐÐÐÐZZZZqqqq----‰‰‰‰÷÷÷÷XXXX 1,600 UUUU****""""$$$$™™™™,,,,āāāā


